‘»
w
Q
pour]
w

N
o
2
>
w
[a]
2
<
-4
<
o
o
N
<
wr
2
<
o
-]

T
<
-4
o
wl
e
=
<
2
<

2
2

‘»
w
m
=
(%]
<
==
[
w
o
>
w
[a]

=
<
X
X
<
I

TURKIVE CUMNSRIYETI WM Y2NCE YA

YT0TVO0E nvs VLSVH Zt10d
$202'90°67 153L8VZVd m
$20ZT'90°8T Hvzvd
Y20T90°LT 1S3L¥YINND
$20T90°9T YINND VLSVH Zt10d
$207'90°ST ELIERTER] M
Y20T'10°vT VANVSEY) VISVH $Z310d
Y20TY0°ET nvs WYYAYE YSNIN
=
$20TY0°TT 15314VZVd s
$20790°1Z yvzvd
$20T90°0Z IS3L¥VINND
$20790°6T YINND VISVH Zv'¥10d
=
$207°90°8T ELIERTER] s
YZ0ZT'Y0'LT VENVSHYS VISVH ¥Z')10d
$20790°9T nvs VISVH Zv'¥10d
$20TY0°'ST 153L8VZVd w.
$20TY0VT uvzvd
Y20TV0'ET 1S3LYVINND
$20T90°ZT YINND NV¥AVE INIQ
$20TY0°'TT ELIERTER] INVY¥AVE INIQ
$207°90°0T VANVSEYD NV¥AVE INIG
$202'90°60 nvs VISVH Zb'¥10d
=
$202'90°80 153L8VZVd s
¥20Z'70°L0 Hvzvd
$207°90°90 1S3L¥VINND
Zz
$202'90°S0 YINND ]
Z
$20790°%0 ELIVERTER] =
Zz
YZ0Z'v0'€E0 VEWVSHYS ]
4
$207°90°20 nvs S
s
Zz
$20Z'70°T0 1S318VZVd =
z
E=]
=
=
Q2
X
= ~
4
[=] @
o o
X

BRANS

OP.DR.YASAR GZBUGDAY




